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fade  (o1-08) : fr=fafaa % @ 7=
A AT W BT TAT BIOTG—
1. (a) FaER® (b) STTEING
(c) TEEIRS (@) daEie
2. (o) wigHfE (b) wTEHE
(e} WA (d) HRTEHIT
3. (a) STHTRETER (b) STSTETRI
(e) A9 (d) s
4. (a) IgEEH (b) SFTEETH
(c) g (d) SFHE
5. (a) SHferergfa (b) arcirefae
fc) orciredyaRil (d) arferergifae
fréw (06-10) : Frafafas o= wEl @
fore tF v e 2y Y Reed § @ gi-
6. o @ 9 8-
(a] STSTT (b) 1o
(c) I (d) fa
7. WA W g @A gie—
() fw (b) forsTy
(c) wR () =
8. U8 g% W F9EN 8-
(a) YN (b) wTEER
(c) @R (d) afelifhe
9. i faelt @1 R =mew 8-
fa) fRasr I RIEGEDE
(c) faerd (d) feemmiy
10. 918l W grefl—
(a) 3oTH (b) 9B
€ () o9
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frder (11-12) : Fe=fafea gemsi/
wrerfaeal @1 arf 9ud Ry v Rt A @
.

11. ‘B9 & B A GEET o oef 8-

(a)
(b}

99 ¥ 98 @
TR AT
AT SERT BT
e T

(]
(d)
‘i T @ I B
CL ]

T &

CUE

12,
(a)
(b)
(c)
(d)

frde (13-16) : F=fofed smeRyr &1
W wiEs @ fEwgar 8, Ry v fee
| g

weiE wEIfNAE & gsg § s QT
HYT & @ El wY W & 9 i e
A WEol 8 8l 51 T8 AU W, A9
W ol e @ fag wol @& oSed
& B Wed TR W 2| fow dwm @
el & geg § wg S g 981
T® U, WHE BER I gE-wuifn @i
wiE w1 @ fog @ dew 81 i ek
wdwne fea @ famr wa www @ el
€ 78l ® 9ear| g§ 9Ea 99 59 96 &0
WaoT Hv @ UG @Rdl & & 98 ey |
el @ v @ e B e R, o
R far W ok =g @ fog o) 9w @
B UgaeY  ordfEd WM 9o U@eH
SEFR B ¢, YT AW & WA FHE H
T e SY i | T

EIGECEE]
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13, W I G 4o &

() O W&

(b) SO HTHET

(c) ST SEE A

(d) T T
14. e BT GE ONE 8-

(a) A AEA

(b) TSR

(c) WIS B W we

(d) g B G-
15, WEw TeNEE @ gaa § e B
&

(@) = T WG @ foy
(b) 2w # gE—wia @ g
(¢) & @ W & forg
d) =¥ @ T B A
16, Sgmwida WRT Fa 8-
(@) orifren o1 FERy = & &g
(b) F=Ta B wed & forg
) omfa @M 8g oTed @ fo
@) weeier @ fore gm e A

¥y (17-18) : Pr=fafaa o=l @
et e 1 g oo fou v fawedt |
¥ #ifog -

17. Ti=

(a) EMES (o) 2

) fa=a (d) |
18. =

() w=EW (b) e

(c) EHT (d) e
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fr¥y (19-20) : Fr=fofae o=l &
Rieiy wres 7 99 999 U e R § 9
i

19. TEUTHSE
(a) EATHE (b) RemeE
(c) WFTHD (d) D
20, I
(a) WET RS (b) IH
(c) 3T (d) aifererg

Directions {21-24) : Read the passage
and then answer the questions based on it
You are required to select your answers
based on the contents of the passage and
opinion of the author only.

PASSAGE
The rule of the road means that, to
protect everyone's freedoms, we must

sometimes restrict individual freedoms. When
a policeman steps into the road and raises
his hand to stop traffic, he is not acting as a
tyrant but as a protector of freedom. By
accepting small limits on personal liberty, we
can create a society where freedom is real for
everyone. We must preserve both our
individual freedom and our social freedom.
This requires a thoughtful balance. While no
one should tell me exactly what my child
must study, if | were to say my child should
have no education, society would step in and
insist that my child must go to school,
whether [ like it or not.

21. What does “the rule of the road” suggest
in the passage ?

fa} Freedom should not be restricted
at any time,

(b) Individual freedoms must
sometimes be limited to protect
everyone’s freedom.

[c) Only policemen have the right to
restrict freedom on the road.

(d) Freedom cannot coexist with rules,


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

247

Adda

22,

23.

24.

According to the passage, when a
policeman stops traffic, he represents

(a) (b)
(c) (d) fear

The author suggests that society would
intervene if

tyranny
freedom

power

[a) a parent wants his child to attend
a specific school

(b) & parent insists that his child
should not receive any education.

[e) & child prefers studying science
over arts.

(d) a child wants to study abroad.

What is required to maintain both

individual and social freedom, according
to the passage ?

la) A strong government,

(b} Complete individual freedom
without limits.

(c) A balance between individual and
social freedom.

(d) Restrictions on only social
freedom.

Directions (25-29) : In the following

questions, out of the four alternatives, select
the word nearest in meaning to the words
given,

25.

26.

27.

Ostentation

{a) Calmness (b) Equanimity
[c} Declaration (d) Pageantry
Primordial

(a)} Feeling of elation

(b) Small

(e) Elementary

(d) Daunting

Massive

(a) Enormous (b) Erroneous
() Hazardous {d} Perilous
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28. Stubborn
{a) Observant (b) Obnoxious
{c) Obstinate {d) Corpulent

29. Astronomical
{a) Exorbitant (b} Commercial
[e} Durable {d) Tlogical
Directions (30-34) Choose  the

alternative that is most nearly opposite in
meaning to the given words.

30, Anathema

(a) Appreciation (b} Cursed

(c) Protection {d) Obstacle
31, Opague

(@) Vague (b) Firm

[c) Transparent (d} Poor
32. Belittle

(&) Allure (b) Disturb

{c} Ascend {d) Magnify
33. Inclement

(a) Pleasant (b) Stormy

{c) Feeble (d) Dignified
34, Vanity

{a} Humility (b) Pride

{c) Ostentation (d] Pity

Directions (35-37) : Choose the

alternative which best expresses the meaning
of the given idioms/proverbs :

35. To move heaven and earth

(a) to pray earnestly

(b] to make every possible effort
{c) to sing beautifully

(d) None of the above
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36. To jump the gun

{a}] to do something without finishing it

(b} to try and harm someone

{cy to do something before the

appropriate time

(dj None of the above
37. To ily off the handle

{a] todislocate

(b} tolose one's temper

(¢) totake off

(d) to be indifferent

Directions [38-40) : Qut of the given
alternatives, choose the one which can best
be substituted for the given words or
sentence.
38, Constant effort to achieve something.

{a) Patience (b) Vigour

(e} Enthusiasm (d) Perseverance
39. Words inscribed on the tomb.

@) Eulogy (b) Epitaph

[e) Memoir (d] Elogquence
40, Life history of a man written by himself.

(a) Biography (b) Autobiography

{c} Calligraphy (d) Bibliography
41. Soaps clean surfaces on the principle

based on

(a) wiscosity (b foatation

{c) elasticity (d) surface tension
41, WIgT & BN ARl B OWH B F;

fagr amenfer @

{a) FHTGT WR (b) Wg° 9

{c) WA O (d) 9% 99 W
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Which one of the following waves is used
for detecting forgery in currency notes ?

{a) Ultraviolet waves

(b} Infrared waves

(c] Radio waves

(d} Microwaves

Fe Al Al B gsE $Y
% fog Frafefes & 9 FR—0 0 &
v g # Y

(a) RTETHT a9
(¢) FEar awt

Which one of the following is the
chemical formula of gypsum ?

fa) CaS0,-2H,0 (b) Ca,310,

(b) STEaEE ¥
(d) S AT

(c) 2CaSO0, -H,0 (d) CaSO,
frafofaa & & sF-w o= @
IS gF B 7

(a) CaSO, 2H,0 (b) Ca,Si0,
() 2CaS0,-H,0 (d) CaSO,

Thyroid gland produces a hormone
called ‘thyroxine’ which

[a) controls blood glucose levels
[b) controls ovulation

{c) controls metabolic rate

(d) meaintains pregnancy

yag (mRge) Yy gRdfRE e

U EfHE @1 Swed HYal 8, Wl

(a) & H @I @ W @ e
vl &

(b) SmEET (deger) o At
AT B |

(¢) SurTE gY W AT & g

@) TifgwRT ® 0 @ § |
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Precursor of which one of the following
vitamins comes from [ - carotene ?

(&) {b) Vitamin- C

) Vitamin- D {d) Vitamin- K
frefafag RefET 4 9 5w e @
AT B-PBIEH W Wy BT & 7

@) fE@=E—aA (b fEfEE- c

() faefs—p (q) feffA- k

Who among the following was the
founder of the Young Bengal Movement ?

(a)
(b)
{c) Dwarkanath Tagore

(d) Prasanna Kumar Tagore

T &6l ATeieds &1 Wans fA-forfEd
¥ B ar ?

Vitamin- A

Henry Vivian Derozio
David Hare

(a) =Y fafEgs fedfemt
b) Sfe gar

(e} EREE SR

(d) HE HAR TR

The Indian National Army/Azad Hind
Fauz was organized to fight against

(a) Germany and Japan

(b) British in India
lc) Japan
(d) Russia

R WS W /arare B Wi
Tov fome /e g oo @
femam rar oy ?

@
ferg

(a) TAHAT TYUT WY
(b) wTed # fafee
(e} I

(d) wH
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Who is the Current Chairperson of the
National Women Commission ?

(a) Mamta Sharma

(b) Rekha Sharma
[e) Vijaya Kishore Rahatkar
([d} None of these

e e o o o gl
B E?

(@) e Tt

(b) T T

(c) faorar famemw wEEey
(d) FTH § FE T8

The Nagarjuna Sagar Project is located
on which one of the following rivers 7

(a) Godavari (b} Krishna

{c] Kavery (d)] Mahanadi
s W uRgieer, el
it § 4 e o W emRum & 7

(@) TITETE (b) T

(e} @wEHR (d) WETTE)

Which cone of the following States in
India has the longest coastline ?

(8) Odisha (b Tamil Nadu

[l  Gujrat {d] West Bengal
T % fefeafes # @ 59 usg §
waw Hfers =l gevEr & 7

(a) i (b) THTIE

(e} =TT (d) uf¥=s dre

The two provisions of the Constitution of
India that most clearly express the
power of Judicial review are

[a) Article- 21 and Article- 446
{b) Article- 32 and Article- 226
(c) Article- 44 and Article- 152
(d) Article- 17 and Article- 143
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ARG @ Gfium @ 9 Suew, W uaiee
we w9 e qHaiiEes @ ik
B T T E, BA-TE ?

@) HFIET— 21 TUT ITWE— 446
(b) ST 32 TAT ATWE— 226
(c) arFee— 44 qUT ITEE— 152
(d) SFEE— 17 YT ATHT— 143
Who among the following can attend the
meetings of both the Houses of

Parliament while not being a member of
either House ?

{a} The Solicitor General of India

(b) The Vice-President of India

The Comptroller and Auditor

General of India

(e)

{d) The Attorney General of India

Hug & e ot w59 @ wew T B9
o 1, Fefefs § & o9 due @ 99

AT @ do@l § Suftyd e e § 7
(a) HRE HT Wi TN

(b) WIRE T FURTAfT

(e) WE w1 F=w g AEerEEE
(d) R T AETATgaTar

Which among the following is not a basic
feature of the Constitution of India ?

{a) Fundamental Rights

(b) Independence of Judiciary

(c) Federalism

(d) The unquestioned right of the

Parliament to amend any part of
the Constitution

(B-8)
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fr=fafe 4 3 o0 vg & wfaus
@ SR fader 6 & 7

(@) e S

(b) e @ wEeEEar

(c) w=ETE

(d) wfEuE & fEer o e @1 Henm
W o wag @ fafdarg vl

According to the Census 2011, the

density of population in which one ameong
the following States is the lowest ?

(a) Sikkim

(b} MNagaland

[e) Arunachal Pradesh
{d) Mizoram

2011 @ G & ATER Frefefan
Tl # ¥ P weg § weEem @
Hed g0 8 7

(a) fufdes

[b) TS

(¢) STEOITEE Wew

) EERE

Which one among the Tfollowing

countrics was the top contributor to
India's total FDI for the year 2023-24.

la) Mauritius
(c)

fefoifa & & @F—w td 99 2023-
24 # WG @ @ UhodlodHo H

(b) Singapore

Usa (d) Japan

wafftrs grremsal 2w o7 ?
(a) AR (b) Rz
(c) FoTHoTo (d) ST
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Fs. 561 is to be distributed among A, B,
C in such a way that A gets Rs. 120
more than B and REs, 120 less than C.
What is the share of B in this ?

{a) Rs.73 (b) Rs. 67

(€] Rs.76 ({d) Rs.80

561 %o F A, B, ¢ ¥ 30 yor Aol
e & & A F B ¥ 120 o IS T
C ¥ 120 To $9 A=) 398 B F1 WM
fpam & ?

la) 73 %o

(b) 67 ¥o
(c) 76 %o (d) 80 %o

Ha:b=3:4and b:c=4: 7 then
a+b+c
c

fa) 1 (b) 2
{e) 3 d) 7
T a:b=3:4Tq b:c=4: 78 GOl

a+b+c=?
c

(@) 1 (b) 2
fe) 3 (d) 7

Two numbers are in the ratio 3 : 4 and
their LCM is 84. What will be the larger
number out of these ?

(@) 21 (b) 24
() 28 (d) 84

B W 3 : 4 B I H E T 3T
AYTH 99 84 T M W 99! e
T 8 ?

(a) 21 (b} 24

(c) 28 (d) 84

A can finish a piece of work in 12 days. A
and B together can finish it in 8 days. In
how many days can B alone finish the
work ?

a) 24
) 18

=7

(b) 20
(d] 22

(B-9)
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A THE FE F 12 B9 & wWa ww
FHaT B A Gy B e 59 8 faw &
AW @Y U & | B dE 59 Bd @

fFem oA ¥ SR SFaT & 7
(b) 20
(d) 22

fa) 24
fc) 18
A can do a piece of work in 10 days, B in
15 days and C in 20 days. A and C
together worlced for 2 days. After that B
was put on the job in place of A. In how

many deys the work was completed in
all ?

[a) 12 days {b) 10 days

(c) 6days (d} B days
AfEd & & 10 39 4, B, 15 &9 4
aur c, 20 faq § @ # W 21 A
wer ¢ faeee 2 B9 B | aoreE
AT WHE W B H FE W A &ar
| B Femer v e R F g
g ?

@) 12127 (b) 10fa=

c 6fed d) 8fes

Car A covered a distance of 448 km in 8
hours and Car B covered a distance of

110 km more than Car A in 9 hours.
The ratio of the speed of car A and car B

is respectively :
(a) 28:31 (b) 29:32
@) 55:23 (d) 62:55

BN A 7 448 it & T 8 B A Ty
T AT BN B A9 U H N AW 110
forifto aifts €8 &9 & R A U7 BN
B 1 T & U HAT —

(a) 28:31 (b) 29:32

(c) 55:2 (d) 62:55


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

62,

62,

63.

63.

64,

A lent Rs. 5000 to B for 2 vears and Rs.
3000 to C for 4 years at the same rate of
simple interest. He received a total of
Es. 2200 as interest from them, what is
the rate of interest ?

fa) 5% (b) 7%

¢} 8% (d) 10%

A ¥ B I 5000 Fo 2 99 & fag @ ¢
Bl 3000 To 4 94 & o0 HERO =TS
W UH B g ¥ 9uN Ay 9w A
g 9 AW WY 7 T 2200 Fo UE
ol | =g & At <€ fee & 7

fa) 5% (b) 7%

() 8% (d) 10%

A sum of money amounts to Ks. 8028 in
3 years and Rs. 12042 in 6 years at a
certain rate of interest, when the
interest is compounded annually. What
is the principal amount ?

{a) Rs.5352 (b) Rs. 4569
(e} Rs.5643 {d) Rs. 4596

v FAfvea aftres = 33 98 3 39t A
v ¥ 8028 ® W & 3w 6 =§T A
12042 Fo B NN B, TA =W aUE
®Y W HAST B 8 ) qe ufy w2 ?

@ 5352 Fo (b] 4569 %o
(€] 5643 %o (d) 4596 To

A man travels a certain distance by a
motorcycle. If he had travelled 6 km/h
slower, he would have taken 8 minutes
more. But, if he had travelled 4 km/hr

faster, he would have taken 4%
minutes less. Find the distance.
(a) 66 km (b) 68 km
c) 76 km (d) 72 km

(B-
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64, Ud wide HieY AEfde g U Mi¥En
o T wwer £ afE 9% 6 o s \vEr
g gam o 99 8 e aftw @
W, It 98 4 faile /9ver o9 Ferar

o 4% fre &1 @) 0 W
HIFY |
la) 66 fEdte (b) 68 fFdo
(€) 76 fFo (d) 72 fFfe
65. [257-188)=7?

(a) 023 (b) 041

(c) 06 (d) 08
65. (257-1.68) &1 # qar & ?

() 023 (b) 041

(e} 086 (d) 08
Direction (66-69) : Read the following
information carefully and answer the
questions given below it :
Six persons A, B, C, D, E and F are
sitting in two rows, three in each.
E ig not at the end of any row.,
D is second to the left of F.
C, the neighbour of E, is sitting diagonally
opposite to D.
B is the neighbour of F.
66. Which of the following are sitting
diagonally opposite to each other ?

fa) FandC (b] Dand A
[c) AandC (d] AandF
67. Which of the following are in the same
row ?
(a) Aand E (b) Eand D
e Cand B {d] AandB

68. Which of the following are sitting in one
of the two rows ?

() FBC (b) CEB

(c) DBF (d) AEF
10)
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69. After D and E interchanging seats, who
will be the neighbours of D in the new
position ?
fa) CandA (b) FandB
c) OnlyB {d} Only A
frdw  (66-69) : fr=fafas ga=nalt &

wEaHgdE ug SR A Ry e wwEt @

TRE
g @fdd A, B, C, D, E R F

gferal § 42 & vee ufdm § 99 wfem @

gl

E fordt ot ofm & foreme & 781 d21 &)

F & a1¢ TW% guv @i D T 8

EF T A C YT ] DS O FONE

fawfa: fRgda 9e7 21

F& 9B da7 2

66. frfafam & & ®A—1 TH T @
e famts gl der & 7
@) FaRc (b) D3RA
) A3RC ([d) A3RF

67, fa=fofaa & @ o o & ofda § 42
B 7
(a) AJRE (b) EJNRD
) caks (d) AsRE

68. Fefeitas & | o9— a7 dfgi 5 9
FHEATE 7
(a) FBC (b) CEB
(c) DBF (d) AEF

69, D 3R E & N # ITa—-dgen D
9E, AW F WD & I S do1 & ?
(a) cawA (b} FailkB
)] HETAB (d) HadA

70,

7.

7L

Bl

T2

T

(B-11)
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A and B are brothers. C and D are
sisters. A's son is D's brother. How is B
related to C 7

g} Father (b) Brother
(c) Grandfather |[d) Uncle

AdwpwE ElcaRpasd €1 A @
421 D @ ¥1¥ 8| B, ¢ ¥ 59 o
g & ?

(a) foam
(c) @T&T

(b) HIE
(d) =T

A, B and C are sisters. D is the brother
of E and E is the daughter of B. How is
A related to D ?

(a) Sister (b} Cousin

{¢) Niece (d) Aunt

A, B3R C @8 €| D, E F AE B R
E, B @ ¥ 81 A, D ¥ {59 waR
Hafee 7

(a) ¥EA (b) HHI FEA
fe) TGl (d) HIHT

A and B are married couple in which B
is hushand. X and Y are brothers. X is
the brother of A, How is ¥ related to B ?

{a) Brother-in-law
(b) Brother

{c}] Cousin

(d} None of these

A ¥k B foofes wer g e B ofr
gl xRy E §1X, AT S 21 Y,

B ¥ &9 yor wafeg 8 7
(a) TET

(b) W

(c) IRT HIE

(d) §H BIg el
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Direction (73-75) : In each of the 77. Data transfer rate in networks or
following questions, find out how many such modems is measured in
pairs of letters are there in the given word, (a) Bits per minute
each of which has as many letters between
them in the word as is/are between them in

(b) Bits per second

the English alphabet. [c] Bandwidth
73. BRIGHTER {d) None of the above
(a)] One (b) Two 77. demwd U WEeww § TEl WEOVW €Y
(c) ‘Three (d) Four A7 W #
74. HACKLE (a} facw wfa fAse 4
(a) One (b) Two (b) faew wia dave #
ic] Three {d) Four (c) ﬁ'\?ﬁlﬁﬁ’ﬁ
75. PICKLE i X4 o
la) Two (b} Three
78. A video consists of a sequence of
[c) Four (d) Five ” 5 Sl
rames 1 5
Py (7a.75) : PrefReT & 9 v - b
g & fu MU e § i S [c) Packets id) Slots
& fore 49 9o B avf £ forey f sireh | 78 TP ARAT L ® 3wy ¥ fear
quiETeT | g9 4 B B 7 CEGIRA
73. BRIGHTER (a] W= b) R=es
fa) TP (b) =T (€ UYded (d) wited
(e} ©F d) IR 79, Which of the following is/are word
74, HACKLE processing software ?
@ T (] & fa] WordPerfect (b} Google Docs
R @ R e} MS Word (d}) All of these
r _—— 79. Pr=fefas & @ d9—w = wwE
W B a . g & 7
(a) (b) 3
{a) TEUNHET (b) T[T Sied
(c) =W (@) df=

() MSTS @) T ¥ T

80, The types of software used to carry out
tasks, such as writing a letter, is called :

{a) GUI software

76. Junk E-mail is also called
{a] Spam (b) Spoof
{c] Sniffer script (d) Spocl
76. W g DI g8 Ml PEl Wl 8

(a) ¥ (b) ¥ILH (c) Application software
e} R e (d) WA {d) System software
(B-12)

{b) Utility software

102
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80. TE WiTeAW oy foell T™d @ W
wea & o wam foean omen &, v &
o= forEen, weamn € ¢

(a] GUISiF=aaR

(b) feferdt wiTeaay 84.

(¢) TSI Wieedaw
(d) e givcaw

81. Which of the following is not a computer
language 7
lz) BASIC
e} LOTUS

(b} COBOL
(d) FORTRAN

g1. fm & & SF—w Freer @ w58 27 | 85

la) BASIC (b] COBOL
(c) LOTUS (d] FORTRAN
82, Which of the following is not a web
browser ?
(&) Yahoo (b) Opera
[e) Chrome (d) Mozilla firefox 85.

82. fa=foflad & 9 $9—W TF 99 A9
TR

(a) ATE (b) et
(c) MW () AT wrEREE

83. domain is usually used for 86.
educational purpose.
{a) .in (b) .org
{c} .com (d) .edu

1 ST— S R W) R
JivEl § foIg wgE B 2 .
(a) .in (b) .org
(€) .com (d} .edu

84, Which of the following components of a
computer system, manages and
coordinates the operation of all the other
components ?

(B-13)
102

GET IT ON
Google Play

{a) Input Unit

(b] Output Unit

{t] Control Unit
(d) Arithmetic Unit

e d @ 219 Fygey Rwen § e
T W UTHl T OWEEE ¥ wEres our
YT 6 B w7

fa) FAGE FHIE

(b) 3TICYE TR

(c) @z gHIE

(d) eAfe® soE

JPEG stands for

(a) Joint Professional Experts Group
(b} Joint Program Evaluation Group
(e) Joint Photographic Experta Group

(d}) Jeint Experienced
Group

JPEG & fgww 8-

(a) TETEE WA YHHUSH U

(b) VETES WU QU 49

(c) TaTEE WICThS UFIUEH U
(d) TaEEE werfte gEEdiRiTE g
URL stands for

(8] Uniform Research Limited

Photographic

(b}  Uniform Resource Locator
(¢} Uniline Resource Labs

(d) Uniform Research Locator

URL &7 faWR -

(a) T R ofes
(b) TFwHE RErd dde
() gfiamsT R de
) e Red dee
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Spreadsheet files are generally stored 809,
with an extension—

{a) .doc (b) .xsl

(c] .=xel (d) .xlsx

Bt BI5d AEFT o BRIk

F W HEeg g Q0.
(a) .doc (b) .xsl

[c] .xel (d) .xlsx

Intersection of rows and columns in
spreadsheet are called

(a) (b} Cells
¢} Line (d] None of these
et # dfeat ok w & uftege
I B T 8 —

Box

{a) dfeH (b) Hed

(c) wmE ) 7 Dg TE
is a compression technology for

transmission of video.

(a} JPG (b} MP4

(c) MPEG (d) 3GP

(B-14)
102
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(a) JPG (b) MP4

(c) MPEG [d) 3GP

............ is a chip which performs

arithmetic and logical instructions in
CPL.

(a)

Main memory

(b) Microcontroller
[c) Microprocessor
{d] SDRAM

(&) AT HART

(b) WTEHBEIER
fc) FATRHIHNR
(d) SDRAM
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W T S9H! I8 W YRAIPT @ierw S 7 HEl 9IY q9 76 A Gl |

yfTeT e RESEIR

ST - B

fAeffta w9y : 2 2 YfrHan 3% : 90
et @ foy Ady

1. 7l g% e O aig anadf 95 ghRen @ o @ 98 w-gitae @@ 16 goi @ & 1
Wﬁmﬁaﬁmw&gﬁﬁ%msﬁﬁmmﬁwuﬁa@@%ﬁﬁm%
dt 38 WHH e @ weE-gRae § 95d off W |

2. HUE A9 IEEE WE-YRae § IR Ry M we § e ¢ W afiRe we-gRaer ®
79 @ 7 ford aik et var @1 ormavge fam 3 |

3. il o vuwe $vd T OMR Sheet # aifta guamt FriRa wm w wler g6 & @
qd e § AR 5 veR @ sFmavEe fne Se g 8 oeved R OMR Sheet W
IUeE B

4. v sm-fufta o @ foy Peffa o T o o @ A diedize 09 g W) e § afe
e 7 ffts 7 W W IR T F oW @ w9 A Rfl R W 99 I @ Ter A
ST |

5. 39 yw-gwer § ¥ R i o B am T | ohEiRr, OMR ST-TES @ 6 dEE B
i & | anusr wher—efia & 25 weE-gfaEn o R o W B AE £

6.  F9 We-gRe 5 @w 90 ¥ 8 | TG T T A 1 3F &) Te o @ (o) $IE 3 Tl
FIe I |

7. WA S, T, qewi U9 ergey @ e e T ool ol € | ol anh A Afia R
ye oY SUE R aEe A B P &, o S 0 R ue § A e

8. ¥ we-yRas 4 W F1 & fo @) gm B M 8
wen 7y ¥ dogaey, WIE 9 /99, AaEa BN Sy gedpe 9wl @Y A e @
THST T FA Ao B

10. awmnifry 5@ w0 ¥ ¥@d @ % OMR Sheet &1 ToUide goiagiis 59 §R1 b1 & & |

¥a7a, OMR Sheet T T @ §él @ & WY g 7 0@ 78 w8 T 3R [
T T T | 5 P w1 sERe wen 7 o 3 aEwn A ol s R wd R

B |

Note : English Version of the instructions is printed on the First Page of this Booklet.
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